Worksheet: GCSE OCR 1951

Link  to case study here
BCCCA 

Creating a Sustainable Chocolate Industry
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1. Growing only one crop in a given area (11 letters)

2. …….. is carried out to improve cocoa yields (8 letters)

3. Meeting today’s demand while respecting future generations (14 letters)

4. A want for a product (6 letters)

5. Manufacturer – Retailer – Consumer is an example of this (6,5 letters)

6. One of the 4 Ps (7 letters)

7. An increasing concern for everyone in the world (13 letters)

8. Countries that have modern industrial practices and high standards of living (9,9 letters)

9. Producers of goods (13 letters)

10. Agreement between participants (9 letters)

11. Wide range of plant and animal life (12 letters)

12. Rely heavily on cocoa to produce this product (9 letters)

13. Biscuit, Cake, Chocolate and Confectionery Association can be shortened to this (5 letters)

14. Goods which are brought into the country (6 letters)

15. Chocolate is made from these beans (5 letters)

16. Economic Activity measured by total number of goods and services produced in a year (3 letters)

17. A reasonable return for risk and effort (9 letters)

